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Quiz 26

Partner opens INT, RHO passes. What is your response?

a) » Q106 b) » K1096 c) A2 d) ~765432 ) aK4
v K92 v AJ73 v KJ5 v2 v AKQ10652
¢ J743 ¢ 82 ¢ QJ93 ¢ 432 ¢ 873
* KJ5 * K54 ® Q42 ® 432 ®5
Partner opens 2NT. What is your response?
a) & Q972 b) & KJ1075 c) & K932 d a76
v 543 v9 v Q1054 v QJ9832
+ 10865 ¢ K62 +38 ¢+ K4
% 93 % 8743 % J762 & 1085
What next with the above hands when the auction starts like this?
2NT 3v 2NT 3% 2NT 3e
3a ? 3¢ ? 3v ?
a AKG6 You sit West and open 2NT.
v A7
¢ KQ954 What do you bid next after these auctions?
« KJ3
West East West East
2NT 3¢ 2NT 3v
3v 3NT 3a 3NT
2 2

You are West. What is your next bid in the following auctions?

a) a KJ3 b) a KJ32

v Q6 v AQ74

¢ AKQ + KJ9

& AJ972 & AQ
West East West East
2NT 3 2NT 3
? 3v 3NT

?
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